Yo
I

i

e FE

THe FEMAMME (FARAKEHEK) Mg (—14m) BEE (E3R)

PRI Rl S

b3 % EFmes

] B #BEEXE
& B BEREE
BoMs RHERE
HEES 18-21-24-055



BERRE

64 B B P BR (R BRUK B BOMBR (-1 4m) BE SR E (3 R)

£ g g - BAKTIE BfT 2 i ki £ &
EERAEE 22,940, 711
HMSIFEER 22,940, 711
HMSIFEER 22,940, 711
HSFEE 22,695, 711
BEEE 588, 226
1 REERE 1.00 588, 226 588, 226
=
HSFEE 16,212,198
2 #fF - B 1.00 1,273, 495 1,273, 495
#H
3 HSEEN) —RFEE WAHRA 91.90 50, 829 4,671,185
km
4 HSEEQ2) —RIFEE RANRA 149. 60 56, 477 8, 448, 959
km
5 BSEEQ) HEZEE RAM 32.20 56, 477 1,818, 559
km
fRMT 5,712,587
6 &R 167. 50 34,105 5,712,587
km
i - |E 182, 700
1 ERIRE 1.00 60, 900 60, 900
]
8 ke 1.00 60, 900 60, 900
]
9 BRRHE 1.00 60, 900 60, 900




BEANRE 457064 2 B8 P BR (R B /K S8 0 RO BR (- 1 4m) R SUBE B (S 3R)

% R R - RARSTiE BfL % 8 B ® # m o=
E#EEE 245,000
S 200, 000
10 £BHER 1.00 200, 000 200, 000
=

Z 0t 45,000
1 EIEERE 1.00 45,000 45,000

=




RiEx < F16.4F FE A PO BB (R SRR St R ORAL BB (—1 4m) B AR (30
% g R - KSR Bifr 2 B i & B W =

ERAEE 14, 006, 050
HEHE 14,006,050 x 63.8% — 1,909 8,933, 950
REEHE 14,006,050 + 8,933, 950 22,940, 000
BRI 8,734,661 + 200,000 8,934, 661
EEAGE 8,734, 661
EERE 200, 000
Z Dt SR f 8,734,661 x 53.85% ( 35% + (1 — 35%) ) 4,703,614
RHRIE 8,934,661 + 4,703,614 13, 638, 275
—REEES 13,638,275 x 53.85% (35% + (1 — 35%) ) — 2,486 7,341,725
BEHES T 13,638,275 + 7,341,725 20, 980, 000
KBS 22,940,000 + 20, 980, 000 43,920, 000
HETR SR L 43,920,000 x 10.00% 4,392,000
HRREXB(IEE 43,920,000 + 4,392,000 48,312,000




Rifiz -/ \v7r—o
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H#5 1
275 REER 1XEY
2 b g - BIRTE By = B 4 ) # i

HEnE

A 1.00 75, 800. 00 75, 800
FEHRAR (F%ET)

A 2.50 64, 800. 00 162, 000
AR (A)

A 2.50 57,000. 00 142, 500
HEm (B)

A 1.00 47, 200. 00 47,200
AR (C)

A 0.50 38, 400. 00 19, 200
BIEFEHEM

A 1.00 54, 600. 00 54, 600
RIS HRER

A 1.00 47,100. 00 47,100
Bl S H A

A 1.00 36, 900. 00 36, 900
MR 2E0%

% 0.50 585, 300. 00 2,926
& B 1E%HeH - 1.00K 588, 226. 00 588, 226
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1647 2 B8 PIAR BE (R BRKE H ROM BB (- 14m) B SR E(FE3R)

&5 :2
25 EilE - BE IED)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 3.00 3, 553.00 10,659 2. 00H / 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.50 24,123.00 36, 184
5fin D 200PSEY
B 0.75 205, 916. 00 154,437 6.00H / 8H
HAEER FRP
B 2.25 66, 990. 00 150, 727 8H
FEHRAR (F%ET)
A 2.25 64, 800. 00 145, 800
AR (A)
A 3.38 57,000. 00 192, 660
HEm (B)
A 2.63 47, 200. 00 124,136
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.50 36, 900. 00 55, 350
BEBF
A 4.50 34, 600. 00 155, 700
BIEHEE
A 4.50 25,900. 00 116, 550
MM 2E0%
% 5.00 1,212, 853. 00 60, 642
& B 1YE%HEH - 1.0048 1,273, 495. 00 1,273, 495
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1647 2 B8 PIAR BE (R BRKE H ROM BB (- 14m) B SR E(FE3R)

&5 :3
W BMSEEN) —XFEE @EAR 1B&HY (14km)
2 b g - BIRTE By = il ) W = " =
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
5fin D 200PSEY
B 1.00 205, 916. 00 205,916 /6. 00H / 8H
HAEEM FRP
B 1.00 66, 990. 00 66, 990 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 24,123.00 24,123
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
BERIREE 15m  100kHz
B 1.00 10, 741.50 10, 741
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 697, 663. 00 13, 953
& B YEZRESN - 14.00km 50, 829. 00 711,616
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Hz5 .4
B HMEREEQ —XiFE FAR 1B&Y (12.6km)
2 b g - BIRTE By = il ) W = " =
REE S4 kY 2L
B 1.00 3,553.00 3,553/2.00H / 8H
5fin D 200PSEY
B 1.00 205, 916. 00 205,916 /6. 00H / 8H
HEAH FRP
B 1.00 66, 990. 00 66, 990 8H
WSIEERER WMSIEEETRIEE O /L, HEIEes. EkER
B 1.00 24,123.00 24,123
GNSS:AIfI £ & DGNSS
B 1.00 25, 740. 00 25,740
BERIREE 1AM 100kHz
B 1.00 10, 741.50 10, 741
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEENF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 697, 663. 00 13, 953
& B YEZRESN 1 12.60km 56, 477. 00 711,616
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1647 2 B8 PIAR BE (R BRKE H ROM BB (- 14m) B SR E(FE3R)

&5 :5
& MRIEEQ) HREFEE BFAR 1BHY (12.6km)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
5fin D 200PSEY
B 1.00 205, 916. 00 205,916 /6. 00H / 8H
HAEEM FRP
B 1.00 66, 990. 00 66, 990 8H
WSIEERER HMERMEETRIEEa L, HIE28. RS
B 1.00 24,123.00 24,123
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
BERIREE 15m  100kHz
B 1.00 10, 741.50 10, 741
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
HEm (B)
A 1.00 47, 200. 00 47,200
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25,900. 00 25,900
M 2E0%
% 2.00 697, 663. 00 13, 953
& B YEZEREN 1 12.60km 56, 477. 00 711,616
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1647 2 B8 PIAR BE (R BRKE H ROM BB (- 14m) B SR E(FE3R)

&S .6
B . BREN 100km= Y
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 12.00 64, 800. 00 7717, 600
AR (A)
A 16. 00 57,000. 00 912, 000
HEm (B)
A 16. 00 47, 200. 00 755, 200
RIS HRER
A 8.00 47,100. 00 376, 800
Bl S H A
A 8.00 36, 900. 00 295, 200
BEBF
A 8.00 34, 600. 00 276, 800
MR 2E0%
% 0.50 3,393, 600. 00 16, 968
& B YEZERES : 100.00k m 34, 105. 00 3,410, 568
&5 .1
¥ BATHE HEED)
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57, 000. 00 28, 500
& Hi 1YEZHER - 1.00[E 60, 900. 00 60, 900
5.8
& PRERE HEED)
2 b g - BIRTE By = BHoO(f %8 # " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57, 000. 00 28, 500
& Hi 1YEZHEH - 1.00[E 60, 900. 00 60, 900




RiEE- BT/ Svr— £ 7064 FE BT ER TR S BOMBE -1 4m) B SR (B3 R)

59
£ EW|E HEED)
2 b g - BIRTE BT o = B O ® W = " =
FEHRAR (F%ET)
A 0.50 64, 800. 00 32, 400
AR (A)
A 0.50 57,000. 00 28, 500
& Hi 1YEZHEH - 1.00[E 60, 900. 00 60, 900
&5 :10
2% EBHRRA 1LY
2 b g - BIRTE BT H = B O ® W E " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%HeH - 1.00K 200, 000. 00 200, 000
&5 11
L% BIEERE 1LY
2 b g - BIRTE BT H = B O ® W E " =
ZDEE
= 1.00 45, 000. 00 45, 000
& Hi 1E%HeH - 1.00K 45, 000. 00 45, 000




